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SECTION A -  SOLUTIONS

Question 1

Intercept an x –axis are 0,1,and 2 hence x = 0, x = 1, and x =2 are solution of the    function .

hence 
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Answer (i)
Question 2
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       bases  are equal hence index are same, 
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                                                                Answer (iv)

Question 3
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Question 4
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                                                               Answer (ii)

Question 5

 Mirror image of function 
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Question 6

 When 
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Question 7
  
 Let  
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Question 8

       If 
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Answer (vi)

Question 9

 x =3 is symmetric axis then 
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Question 10
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Answer (iv)

Question 11

  Substituting given values at
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Question 12


    f(x) = 1/  x-1
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Question 13    
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Answer (iv)

Question 14
 Given function denominator is (
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Question 15

[image: image157.wmf]2

2

cos

sin

cos

)

sin

(

x

x

x

x

x

x

x

x

-

-

=

-

-

=


                                                                                                                                                   
                                                         Answer (iv)

Question 16
         If 
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Question 18
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Curve cuts x =axis 

x = 0,1,2 are  cutting position  on x-axis                                     
  Answer (iv)
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Answer  (iii)

 Question 21
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Question 22
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Answer (iii)

Question 23
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Answer (iii)

Question 24
BBBB is all four balls are blue colour ones. Next, one ball is yellow and others are blue colour ones. Possible ways are,

BBBB +YBBB +BYBB +BBYB +BBBY
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Probability that at least two yellow balls 

= 1- (Probability of no yellow ball + probability of one yellow ball)

= 1- 0.1408

= 0.8592

=0.86 to 2 d.p.                                                                

     Answer (ii)    

SECTION B -  Written Examination 2: Analysis Task Suggested Solutions

Question 1
 a. The function 
[image: image79.wmf]24

()6

3

fx

x

=-

+

does not allow 
[image: image80.wmf]3

x

=-

. Thus the largest domain is R\{-3}.



     







1 mark
b. Applying following transformations for the graph 
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i. First, dilate by a factor of 24 in a vertical direction away from the x-axis.
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ii. Second translate the graph to the left  (in a negative direction) along the x-axis by 3 units. 
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iii. Third, translate the graph down (i.e. in a negative y-direction) by 6 units.
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ii.  

If 
[image: image90.wmf]24

()6

3

ygx

x

==-

+

 then inverse function of g(x) is given by 




[image: image91.wmf]1

2424

63

36

24

()3

6

xy

yx

gxy

x

-

=-Þ+=

++

\==-

+












2 marks
iii 
When 
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iv.
 Domain of 
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g(x), 
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b. When 
[image: image106.wmf]()750

Pt

=

. 


[image: image107.wmf]0.05

0.05

7501500

2

0.05log2

log2

13.8614weeks

0.05

t

t

e

e

e

e

t

t

-

=

\=

=

==»






    





1 mark     


c. 
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d. i. When 
[image: image109.wmf]2

t

=





[image: image110.wmf](

)

0.1

2

7567.86

68rabbits/week

t

dP

e

dt

-

=

=-=-

»-












1 mark
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g.
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   ii. 
When 
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j. 
Size of the population at time t is given by
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Question 3

 a.
 i.
 This shape can be considered to be a sphere plus a cylinder. The volume is
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ii Surface area of  this capsule can be considered to be surface area of a sphere plus surface area of the curved surface of a cylinder.
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b.
 i. Given that   
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ii. To find the domain for h consider the above expression. we know that
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i. 
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Turning points are given by 
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ii. 
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Hence 
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Corresponding value of S  is given by
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Total 15 marks
Question 4
a. 
Let p the probability that he gets a particular answer correct. Then 
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b.
 Binomial distribution with 
[image: image145.wmf]1

25and

5

np

==

.
           

 1 mark


c. 
Random variable X denote the number of correct answers. Then the distribution of X
is  
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d. 
The mean is given by
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Variance of X is given by
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The standard deviation is given by
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